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Justify whether the following assertions are T or F
1.The cost of capital of a company during one year is the cost of acquisition of its capital stock plus its depreciation during the year.
2. A monopoly market where entry implies sunk costs is a contestable market.2nd test

3.  In the long run, the price in a competitive market is not equal to the unit cost in labour plus in raw materials.

4. In the short run, the price in a competitive market is not equal to the unit cost in labour plus in raw materials.
5. Drug trafficker gangs recur to violence to keep competitors off – a fact which enables them to enjoy excess profits in the long run 2nd test
6. Unlike the managers of private companies, managers of state-owned companies attempt to maximize the social welfare 

7.A private monopoly can be regulated in several ways. One example is to fix the maximum price the monopolist can set. 
9.Tax payers are the major benefiters from simple auctions, while consumers are the major benefiters from modified auctions (the other type of auction studied in the same lecture) 2nd test

10. Unlike simple auctions, modified options may lead to excess profits
12. In some markets the number of consumers of a product is extremely high while the number of sellers is not large. This fact makes ‘good’ regulation  more likely. 2nd test

13.The fact that the professionals of regulatory agencies are often experts 
19.The fact that the local authorities of many cities around the world set an upper limit for the number of taxis allowed to circulate can lead to ‘rent seeking activities’ – just like when governments set up comparative audiences to award the right to operate in an industry to one or a few companies. 2nd test
20.In cities where local authorities have in the past set a limit for the number of taxis allowed to circulate, the taxi fares paid by costumers tend to be higher than otherwise and a taxi driver that purchases a license tends to enjoy excess profits. 2nd test

21. Consider a firm that is initially using only 50% of its installed capital stock. Afterwards, the output of the firm and the number of its workers double, the rate of utilization of the capital stock rises up to 100%, and the unit total costs go down.  This means that the firm has explored economies of scale.
22. As the production of one firm rises in the short run, both unit variable costs and marginal costs increase as well.

23. As the production of one firm rises in the short run, average (unit) total costs fall monotonically (that is, with any increase of production).

26. In competition, the price is equal to the unit total cost – both in the short term and in the long term. 

27.Starting from a long run equilibrium in competition, a decline in demand leads to a decline in the price in the short run, but not in the long run.

28. In the short run, competitive firms do not pass increases in variable costs on to higher prices, because that would lead to a decline in the volume of sales.
29. The profit-maximizing price in a monopoly yields a margin of revenue over variable costs that is usually, but not necessarily, high enough to cover the fixed costs.

30. In  the short run, a price above the unit variable cost leads to a loss of social welfare.(Assume that, even if the price happens to be zero, the level of demand will stay below full capacity).
31. One implication of the price set by a monopolist is that many units whose production cost falls short of consumers’ utility are neither produced nor consumed.

32. Water, electricity and gas distribution, but not garbage collection, are examples of natural monopolies.
Hint: in the next two questions, ponder about the possibility of ‘reverse engineering’ in each case.
33. If it is not patented but the way it is produced is kept secret, the discovery of a new product tends to lead to a monopoly.

 34. If the way it is devised is kept secret, the discovery of a new production process that leads to a sharp reduction in unit costs may lead to a monopoly - even if it is not patented.

36. In some industries, competition among many firms may lead to higher unit costs than a monopoly. One example is water distribution.
38. A sharp decline in demand leading to a lot of excess capacity may make firms unable to pay their financial commitments (interest and dividends) – especially if the fixed costs are high. 
40. Once oligopolistic companies have formed a cartel, each of them may afterwards have the temptation to make secret price cuts. 
41. One way to ensure that the members of a cartel set the price at the monopoly level is to centralize their sales in a single agency. Another way is to assign a separate market to each cartel member2nd test
42. Unless there is some type of entry barriers, an industry with just three firms at a certain moment will become competitive in the long run. 2nd test
43. Industries where publicity is very important, and where the technology implies production indivisibilities and high fixed upfront costs, are more likely to be oligopolistic than industries without these features.2nd test
44. A very high cost of entry at the Minimum Efficiency Scale in one industry may allow established oligopolistic firms to enjoy above normal profits in the short run, but not in the long run.2nd test
45. A tax on the profits of a monopolist leads to an increase in the price it sets. Despite that, the monopolist will still suffer a decline in its profits. 2nd test
46. When they have lower unit publicity costs than new firms, established oligopolistic firms may be able to enjoy monopoly profits both in the short-run and in the long run.2nd test
47. When they benefit from the goodwill of consumers, established oligopolistic firms may be able to enjoy above normal profits both in the short-run and in the long run.2nd test
49. Suppose that to overcome the goodwill of consumers in favour of established firms, new firms have to spend 2€ more in publicity per unit of sales than established firms. In this case, established oligopolistic firms can set the price at the monopoly level without inducing entry – even if it exceeds by 3€ their own (production + publicity) unit costs. Note: unit production costs of established and new firms are assumed to be equal. 2nd test
50. Consider an industry where, because of huge infrastructural costs, a price equal to the monopoly level exceeds unit total costs if there is just one firm, but is lower than those unit costs if there are two firms (with 50% of the market each). Initially there is only one established firm. A new firm is optimistic and assumes that, if sets the same price as the established firm, it will conquer half of the market. In this setting, the single established firm will initially be forced to set the price below the monopoly level in order to prevent entry. 2nd test
51. Consider an industry where, because of substantial infrastructural costs, a price equal to the monopoly level is equal to the unit total costs if there are two firms (with 50% of the market each). Initially there is only one established firm. The established firm is aware that a new firm expects that, if it sets the same price as the established firm, it will conquer 45% of the market. In this setting, the single established firm will initially be forced to set the price below the monopoly level in order to prevent entry. 2nd test
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